FXQ rguns

DREAMLINE CONVERSION KIT

CONTENTS
WWARNING ...ttt ettt ettt et e b e b e s bt e she e s at e et e et e e sb e e s beesaeesabeeabeeab e e bt enbeeemeeeneeennean 1
HOW TO DRAIN THE RIFLE FROM AIR PRESSURE.......e e 2
Dreamling With AITTUDE .......ooi ettt e st et esre e s bee e sbeeenees 2
Dreamline with AirBottle Adapter and Air BOTtIE .......cccveiiieiii i 2
Dreamline with AirBottle Adapter and CompPact TUDE .......cccvviieiiiiiiiciee e 2
SAFETY LEVER REPLACEIMENT ...ttt ettt ettt e e e e s sttt e e e e e s e mnbe et e e e e e e eaannneneeeeas 3
TRIGGER REPLACEIMENT ... s ssssmnnnan 4
I Fd={cT o) =T g Lo - o I PR 4
I Fd=CcT o = TV LT o T o R PP 4
REPLACE THE AIR TUBE With AIR BOTTLE ......ciiicitiiiiiesieeeiteesieeeieeesiteesveesseveesee e eveeesnbeesneeenseassnseesnnnas 5
CONVERSION DREAMLINE BASIC to DREAMLINE BASIC COMPACT ......oiiieiienieeneeneeeee et eeee e siee s 6
CONVERSION DREAMLINE BASIC to DREAMLINE CLASSIC.....ccoviiiiiiieiiieieeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeees 7
CONVERSION DREAMLINE BASIC t0 DREAMLINE LITE ..cceeeeiiiiiiiiiiiieieeeeeeeeeeeeeeteeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeseseseees 8
CONVERSION DREAMLINE BASIC to DREAMLINE TACTICAL ...eeiuiiiieiieieeieeiee sttt 9
CONVERSION DREAMLINE BASIC to DREAMLINE BULLPUP .......cuiiiiiiiieieeteeee e 10
FXDream/ine ~amily 7ree
Dresm-crassic resm-crre Dresm-tite Dresm-tite

Compact Bolt/le

\ / /

LIream-rup Dream-Base Dream-Base Dream-Base Dream-Pup
Compact Boll/le Bottle

ﬁ-_mwﬁ—
\ % \

Dream-~7 Dream-73c Dream-73c Dream-73c
Compact Bottle

VTP P = e



file:///C:/Users/Alen/Desktop/FX%20ritningar/Dreamline%20reklamfilm-Alen/ombyggnationskit/Skarpa%20ritningar/1024-1-Dreamline%20Converting%20Kit.docx%23_Toc39132486
file:///C:/Users/Alen/Desktop/FX%20ritningar/Dreamline%20reklamfilm-Alen/ombyggnationskit/Skarpa%20ritningar/1024-1-Dreamline%20Converting%20Kit.docx%23_Toc39132487

Bottle Adapter Bottle Adapter long, Bullpup

Dﬂ[ i

Safety Lever, Classic

WARNING

~ WARNING

Drain the air from the air-tube/air-bottle and make sure the rifle is drained of air!
Both of pressure gauges must read zero air pressure!

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden
[Art.No. 1024] [Revision 1] ~ Page 1



FXB Iirguns

HOW TO DRAIN THE RIFLE FROM AIR PRESSURE

Dreamline with Airtube

-
poyi- |u
©

a o \ \\ \

Regulator pressure gauge Air Tube Air Tube pressure gauge
Valve pin =

Tube gauge -

1 —If tube pressure is over 100bar, shoot air shots to get down to 100bar.

2 —Use some kind of tool as a lever to apply pressure on the valve pin, this will drain the air thru the
barrel. A usable tool is a 2,5mm hex key or a small flat-head screw driver.

3 — Unscrew air tube from the action counter clockwise.

Dreamline with AirBottle Adapter and Air Bottle

|

%oo/@ \

Regulator pressure gauge

Air Bottle pressure gauge Air Bottle

1 — Loosen carefully Air Bottle from the rifle

2 —Shoot a shot without bullet and listen if the air goes out of the rifle, if not try again.
Regulator pressure gauge and Air Bottle pressure gauge must read zero air pressure.
WARNING! Do not repeat if empty!

Dreamline with AirBottle Adapter and Compact Tube

L EE®|—
e [ -

Regulator pressure gauge Air Tube pressure gauge Air Tube Compact

1 — Loosen carefully Air Tube Compact from the rifle

2 —Shoot the air shot (without bullet) and listen if the air goes out of the rifle, if not try again.
Regulator pressure gauge and Air Tube pressure gauge must read zero air pressure.
WARNING! Do not repeat if empty!

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden

[Art.No. 1024] [Revision 1]

Page 2



FX“ iraguns

SAFETY LEVER REPLACEMENT

Dreamline Basic, Classic and Dreamline Bullpup have the “Classic” safety lever.

- Warning, drain the air from air-tube/air-bottle and make sure the rifle is drained of air!

3 —If the steel
ball and the
spring falls out,
put them back
into place into
the main block.

Turn the rifle upside down

2 — Push out the safety lever.

1 —If the steel ball and
the spring falls out, put
them back into place into
the main block.

2 — Push in the safety pivot
into place. Keep the steel
ball pressed until the safety
pivot goes over the steel

IN

Grub Screw

== 3 — Insert the Lever into the Safety /[lZD’j

Pivot and secure with the grub screw.

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden
[Art.No. 1024] [Revision 1] ~ Page 3



l=x3 Iirguns

TRIGGER REPLACEMENT

- Warning, drain the air from air-tube/air-bottle and make sure the rifle is drained of air!
— [ ]

Trigger standard

1 — Loosen grub screws (1)

2 — Push out the cylindrical pins (2)
3 — Push out the cylindrical pin (3)
4 — Pull out the complete trigger (4)

Trigger Bullpup

1 —Insert the L-trigger (1) into the main block and push the cylindrical pin (2) into their position
2 —Secure with the grub screw (3)

3 —Insert the Trigger complete (4) into it’s position

4 — Push the cylindrical pin through the Trigger wheel (5)

5 — Secure with grub screw (6)

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden
[Art.No. 1024] [Revision 1] ~ Page 4



FX,-?. Iirguns

REPLACE THE AIR TUBE with AIR BOTTLE

- Warning, drain the air from air-tube/air-bottle and make sure the rifle is drained of air!

{ L]

1 — Unscrew Air Tube

Do not loosen

2 1 M8 grub screw!
Y

(1 -

¢ [ B

1 — Loosen grub screws (1) and pull the barrel (2) out of the system

2 —Screw the Air Bottle Adapter (3) to the system

3 —Screw the Air Bottle (4) to the bottle adapter (3)

4 —Insert the barrel back in the main block (2) and secure with the grub screws (1)

Do not loosen
M8 grub screw!

Bullpup basic with Air Bottle ) 1
/ \-\. /
Il -~ [
yi L @ e ] .
\ E/ —
\ - 3

5

1 — Loosen the grub screws (1) and pull the barrel (2) out of the system

2 —Screw the Air Bottle Adapter (3) to the system

3 —Screw the Air Bottle Adapter Long, Bullpup (4) to bottle adapter (3)

4 —Screw on Air Bottle (5) to bottle adapter (4)

5 — Insert the Bottle Adapter Cover (6) in place, between the Bottle Adapter (3) and the Air Bottle
(5), over the Long Bottle Adapter Bullpup (4). Secure the Bottle Adapter Cover with the adjusting
screw on the right side of the Bottle Adapter Cover (6).

6 - Insert the barrel back in the main block (2) and secure with the grub screws (1)

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden
[Art.No. 1024] [Revision 1] ~ Page 5



FXQ/PQUHS

CONVERSION DREAMLINE BASIC to DREAMLINE BASIC COMPACT

- Warning, drain the air from air-tube/air-bottle and make sure the rifle is drained of air!

1 Do not loosen

M8 grub screw!
’ /

1 — Loosen grub screws (1)

2 — Pull the barrel (2) out of the system

3 — Unscrew Air Tube (3)

Do not loosen

4 M8 grub screw!
: b |

1 —Screw the Bottle Adapter (1) to the system

2 — Screw the Air Tube compact (2) to the bottle adapter (1)
3 —Insert the barrel compact in the main block

4 — Secure with the grub screws (4)

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden
[Art.No. 1024] [Revision 1] ~ Page 6



FXairguns

CONVERSION DREAMLINE BASIC to DREAMLINE CLASSIC

- Warning, drain the air from air-tube/air-bottle and make sure the rifle is drained of air!

i _ | S
e
y

Dreamline Basic

See drawing “Dreamline Basic”
position 49. Already mounted

Use Red Loctite
0 / for Hammer Spring Adjuster.
]\ 1

L @ on Basic model.

1 — Replace the Safety (1) to the Safety Classic model. The Classic Safety lever is already mounted
from factory on the basic model.

2 — Insert the system into the stock (2)

3 —Secure from below with the screws M5x30

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden
[Art.No. 1024] [Revision 1] ~ Page 7



FXQ/PQUHS

CONVERSION DREAMLINE BASIC to DREAMLINE LITE

- Warning, drain the air from air-tube/air-bottle and make sure the rifle is drained of air!

| ~

|

o] )
/ . oo "
/

Dreamline Basic

Locking wheel 6

M4x8

M5x12 M6x20

1 — Unscrew the hammer spring adjuster (1)

2 — Insert the spring holder (2) into the house hammer adjuster (3) and screw on to the main block
with the special screw M4x30 on the left side and the screw M4x60 on the right side.

3 — Place the Lower Reciever (4) in place and secure with three screws, two screws M5x12 goes into
the main block and M4x8 goes into the house hammer adjuster (3)

4 — Push the Grip (5) on to the Lower Reciever (4) and secure with screw M6x20

5 — Push the Stock (6) in place, on the house hammer adjuster (3), and tighten with the Locking
Wheel

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden

[Art.No. 1024] [Revision 1]

Page 8



FX,-?. Iirguns

CONVERSION DREAMLINE BASIC to DREAMLINE TACTICAL

- Warning, drain the air from air-tube/air-bottle and make sure the rifle is drained of air!

i _ | S
// o o )

Dreamline Basic

M5x8 M3x25 M5x8

M4x8

M5x12 M6x20

1 — Unscrew the hammer spring adjuster (1)

2 — Insert the spring holder (2) into the house hammer adjuster (3) and screw on to the main block
with the special screw M4x30 on the left side and the screw M4x60 on the right side.

3 — Place the Lower Reciever (4) in place and secure with three screws, two screws M5x12 goes into
the main block and M4x8 goes into the house hammer adjuster (3)

4 — Push the Grip (5) on to the Lower Reciever (4) and secure with screw M6x20

5 — Place the Stock Adapter (6) on the house hammer adjuster (3) and secure with the screws M5x8

6 — Place Rail (7) on the main block and secure with the screws M5x8. Secure also with the screws
M3x25 to the Stock Adapter (6)

NOTE!

If converting from Dreamline Lite to Dreamline Tactical be sure to remove
Screw (L1) and Piston (L2) from House hammer adjuster.

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden
[Art.No. 1024] [Revision 1] ~ Page 9



FXB Iirguns

CONVERSION DREAMLINE BASIC to DREAMLINE BULLPUP

- Warning, drain the air from air-tube/air-bottle and make sure the rifle is drained of air!

| | -
/

Dreamline Basic

14 11

13\5

L

U @ M4x50

special

1 — Unscrew the hammer spring adjuster (1)

2 — Replace the Trigger Standard Complete with Trigger Bullpup Complete and L-trigger (4)

3 —Insert spring holder (2) into the house hammer adjuster Bullpup (3) and screw on to the main
block with the special screws M4x50.

4 — Lift up the Trigger Linkage (5) and hook it into the L-trigger

5 — Insert the system into the Bullpup stock and secure, from below, with the special screw (7).

6 — Push the Cheekrest (8) on to the main block, push the rubber ball (9) into the hole and secure
with the grub screw (10)

7 — Push the Dovetailrail (11) on to the main block and secure with the screws M4x14 (12).

8 — Pull the Dovetailrail barrel support (13) on to the barrel and into the Dovetailrail and secure with
the countersunk screw M4x10 (14).

9 - The Classic Safety lever is already mounted from factory on the basic model.

FX Airguns AB | Vasterangsvagen 10 | 542 35 Mariestad | Sweden
[Art.No. 1024] [Revision 1] ~ Page 10



